JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 15 2) 52 3 16
+ 3 + 15 + 8 2
3.
4.
4 29 5 14 6) 60 >
+11 + 1 + 31 5
7.
8.
7) 2 8) 863 9) 31 9.
+1 + 55 + 17
_ = 10.
11.
12.
100 2 1) 3 129) 637 13.
+1 +2 + 25
- T 14.
15.
13) 39 14) 798 15) 4
+ 6 + 178 i
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 1 11-15]27|20]13| 7 | O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1, 18
1) 15 2) 52 3) 16
+ 3 + 15 + 8 2 67
18 67 24
3 24
4. 40
4 29 5 14 6 60 > 15
+11 + 1 + 31 6 91
40 15 91
7. 3
8. 918
2 8 863 9 31 9 48
+1 + b55 + 17
T 10, 3
3 918 48
11, )
12. 662
100 2 1) 3 12) 637 13, 45
+ 1 + 2 + 25
"3 "5 662 u.__ 976
15. S
13) 39 14) 798 15) 4
+ 6 + 178 i
45 976 5
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 1 11-15[27]20|13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
91 67 3 18
40 5 918 15 1.
662 48 3 24
2.
) 15 2 52 3 16 3
+ 3 +15 + 8
4,
5.
6.
7.
4) 29 5) 14 6) 60
+11 + 1 + 31 8.
9.
10.
11.
N2 8 863 9 31 n
+1 + 55 + 17
100 2 1) 3 12) 637
+1 +2 + 25
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 1 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
) 9 2) 374 3 17
i + 258 + 1 2
3
4,
9 48 5 2 6 92 >
+ 1 1 t 8 6
7.
8.
20 8 7 9 104 9.
+ 9 + 2 + 11
_ = 10.
11.
12.
10) 1 11) 8 12 19 13,
+1 +1 +15
- o 14.
15.
13) 56 14) 114 15) 242
+ 34 + 4 + 101
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 2 11-15|127120]13| 7| O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1, 10
D 9 2) 374 3 17
+1 + 258 + 1 2. 632
10 632 18
3 18
4 49
5 3
4) 48 5 2 6) 92
+ 1 1 t 8 6. 100
49 3 100
7 29
8 9
20 8 7 9 104 9. 115
+ 9 + 2 + 11
— 10 2
29 9 115
11. 9
12. 34
100 1 1) g 12 19 13, 90
+1 +1 + 15
15. 343
13) 56 14) 114 15) 242
+ 34 + 4 +101
90 118 343
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 2 11-15[27]20]13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
3 115 2 18
632 100 9 10 1.
49 34 29 9
2.
D 9 2 374 3 17 3
+1 + 258 + 1
- 4.
5.
6.
7.
4 48 5 2 6 92
+ 1 +1 + 8 8.
9.
10.
11.
n 20 8 7 9 104 "
* 9 +2 + 11
100 1 1) g 12) 19
+1 +1 +15
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 2 11-12| 8




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
) 6 2 4 3 47
1 1 + 43 :
3.
4,
4 847 5 11 6 11 >
+ 149 + 4 + 9 5
7.
8.
N 4 8 16 9 19 .
+1 + 1 +13
il 10.
11.
12.
100 39 11) 50 129) 62 13,
+11 +47 +18
14,
15.
13) 7 14 5 15 667
+6 +1 +240
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 3 11-15|127120]13| 7| O




=

Zusatz (vertikal)

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
_ 7
) 6 2 4 3 47 '
+1 +1 -43 S
7 5 90
3. 90
4 996
4 847 5 11 6 11 > 15
+ 149 + 4 + 9 6 20
996 15 20
7. S
8. 17
4 8 16 9 19 9 32
i + 1 +13 50
5 17 32 1o
11, 97
12, 80
100 39 11) 50 129) 62 13, 13
+11 +47 +18
50 97 80 14. 6
15, 907
13) 7 14 5 15 667
+6 1 240
13 6 907
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 3 11-15]27]20f13| 7| O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
50 80 7 97
5 32 20 5 1
17 90 15 996
2.
D 6 2 4 3 47 3
+1 +1 + 43
- - 4.
5.
6.
7.
4) 847 5) 11 6) 11
+ 149 + 4 + 9 8
9.
10.
11.
N4 8) 16 9) 19 12
+1 + 1 +13
10) 39 11) 50 12) 62
+11 +47 +18
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 3 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
) 13 2 59 3 46
+ 5 + 14 + 36 2
3
4,
4 939 5 12 6 90 >
+ 47 +11 + 26 5
7.
8.
N4 8 4 9 91 9.
+1 +2 + 4
T4 _“ 10.
11.
12.
100 7 1) 4 120 19 13,
+ 3 + 3 + 1
- - 14.
15.
13) 4 14) 25 15 2
1 + 14 1
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 4 11-15|127120]13| 7| O




=

Zusatz (vertikal)

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
_ 18
) 13 2) 59 3) 46 '
+ 5 + 14 + 36 2 73
18 73 82
3 82
4 986
4 939 5 12 6) 90 > 23
+ 47 +11 + 26 5 116
986 23 116
7 5
8 6
74 8) 4 9 91 0 95
+ + +
-1 2 = 010
11. !
12. 20
100 7 1) 4 120 19 13. 5
+3 +3 + 1
10 7 20 14. 39
15. 3
13) 4 14) 25 15 2
i + 14 i
5 39 3
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 4 11-15]27]20f13| 7| O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
82 95 116 23
73 20 986 7 1.
6 10 18 5
2.
1) 13 2 59 3 46 3
+ 5 +14 + 36
4.
5.
6.
7.
4) 939 5) 12 6) 90
+ 47 +11 + 26 8.
9.
10.
11.
N 4 8 4 9 91 "
+1 +2 + 4
100 7 1) 4 12) 19
+ 3 +3 + 1
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 4 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
) 41 2 4 3 24
+ 14 +1 +14 2,
3.
4,
4 14 5 506 6 66 >
+ 4 + 234 + 32 6
7.
8.
016 8 31 9 54 9
+ 13 + 9 + 45
10.
11.
12.
100 5 1) 13 12) 572 13,
+2 + 4 +134
- 14,
15.
13) 1 14) 4 15) 16
+1 +1 + 2
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de S 11-15|127120]13| 7| O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1, 95
) 41 2) 4 3 24
+ 14 +1 +14 2 5
55 5 38
3 38
4. 18
4 14 5 506 6) 66 > 740
+ 4 +234 + 32 5 08
18 740 98
7 29
8 40
16 8 31 9 54 9 9
+13 + 9 + 45 v
29 40 99 o
11. 17
1. 706
100 5 1) 13 12) 572 13 2
+2 + 4 + 134
7 17 706 14, °
15. 18
13) 1 14) 4 15 16
+1 +1 + 2
2 5 18
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 5 11-15]27]20f13| 7| O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
55 99 98
7 40 17 1.
5 38 18
2.
) 41 2 4 24 3.
+ 14 +1 + 14
- 4,
5.
6.
7.
4) 14 5) 506 66
+ 4 + 234 + 32 8.
9.
10.
11.
7) 16 8) 31 54 12,
+ 13 + 9 + 45
100 5 11) 13 572
E + 4 + 134
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1
nH 22 2) 4 3 4
+12 +4 +1 3
3.
4,
4y 2 5 94 6 852 >
+1 + 1 + 126 5
7.
8.
N9 8 88 9 51 o
+2 + 1 + 8
_ = 10.
11.
12.
100 8 1) 496 12) 3 13.
+ 2 + 361 +1
- - 14.
15.
13 111 14) 11 15) 87
+ 9 + 5 + 33
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 6 11-15|127120]13| 7| O




=

Zusatz (vertikal)

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
1 34
1) 22 2 4 3 4
+12 +4 +1 2. 8
34 8 5
3 5
4 3
4 2 5 04 6) 852 > %
i + 1 + 126 6 978
3 95 978
7 11
8 89
7 9 8 88 9 51 9 9
+ + +
+2 L 0 010
11 89 59
11. 857
12. 4
100 8 11) 496 12 3 13 120
*t2 + 361 1
10 857 4 14. 16
15, 120
13) 111 14 11 15 87
+ 9 + 5 + 33
120 16 120
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 6 11-15[27]20|13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
59 8 34
10 857 4 1
3 95 11
2.
) 22 2 4 3 4 3,
+12 +4 +1
- - 4,
5.
6.
7.
49 2 5 94 6 852
i + 1 + 126 8.
9.
10.
11.
N9 8 88 9 51 n
+ 2 + 1 + 8
100 8 11) 496 12) 3
+2 + 361 +1
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 6 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1
) 753 2) 606 3 57
+ 45 + 56 + 6 2
3.
4,
4 1 5 8 6 24 >
i i + 20 6
7.
8.
N9 8 18 9 4 9.
+1 + 2 +1
= — 10.
11.
12.
100 34 11) 4 12 11 13,
+ 10 +1 + 2
o 14.
15.
13 79 14) 74 15) 4
+ 19 + 2 +4
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de I 11-15|127120]13| 7| O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 798
) 753 2) 606 3 57
+ 45 + 56 + 6 2 662
798 662 63
3 63
a 2
4 1 5 8 6 24 > 2
+1 +1 + 20 6. 44
2 9 44
7 10
8. 20
N9 8 18 9 4 ) 5
+1 + 2 +1
— — 10, 44
10 20 5
11. S
12, 13
100 34 1) 4 1) 11 13, 98
+ 10 i + 2
44 5 13 14. 76
15. 8
13) 79 14) 74 15 4
+19 + 2 i
98 76 8
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de I 11-15]27|20]13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
9 13 44 2
44 20 63 5 1
662 5 798 10
2,
1) 753 2 606 3 57 3.
+ 45 + 56 + 6
4,
5.
6.
7.
49 1 5 8 6) 24
+1 +1 + 20 8.
9.
10.
11.
n 9 8 18 9 4 "
+ 1 + 2 +1
100 34 1) 4 12 11
+ 10 +1 + 2
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 7 11-12| 8 | 0




# Zusatz (vertikal)

Name:
L 6se jede Aufgabe. Antworten
1.
) 30 2) 45 3 65
+ 7 + 9 +19 2
3.
4.
9 2 5 10 6 42 >
i + 6 + 1 6
7.
8.
7) 8 8) 3 9) 3 9.
+ 4 +1 +1
— — — 10.
11.
12.
100 5 1) 69 12) 55 13
+ 2 + 30 + 20
- 14.
15.
13) 24 14) 309 15) 7
+19 + 109 i
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 8 11-15]27]20f13| 7| O




=

Zusatz (vertikal)

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
1 37
) 30 2) 45 3 65
37 54 84
3 84
4 3
4 2 5 10 6) 42 > 16
+1 + 6 + 1 6 43
3 16 43
7 12
8 4
I 8 13 9 3 9. 4
+ 4 +1 +1 v
12 2 4 10.
11, 99
12. /5
100 5 11) 69 12) 55 13, 43
i + 30 + 20
7 99 75 14. 418
15. 12
13) 24 14) 309 15) 7
+19 + 109 i
43 418 12
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 8 11-15[27]20|13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
54 37 84 7
4 12 43 75 1
99 4 16 3
2.
) 30 45 3 65 3.
+ 7 + 9 +19
4,
5.
6.
7.
4 2 10 6) 42
+1 + 6 + 1 8
9.
10.
11.
) 8 8 3 9 3 N
+4 +1 +1
100 5 1) 69 12) 55
+2 +30 +20
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 8 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 30 2 80 3 42
+ 16 + 20 + 2 2.
3.
4,
4 517 5 15 6 6 >
+ 139 + 2 +4 5
7.
8.
7 8 8 81 9 16 0.
+1 + 7 + 1
= 10.
11.
12.
100 41 1) 3 12) 90 13.
+ 9 +1 + 5
- 14.
15.
13) 7 14) 3 15) 19
+1 +1 + 7
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 9 11-15|127120]13| 7| O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 46
) 30 2 80 3 42
+16 + 20 + 2 2 100
46 100 44
3 44
4, 656
4 517 5 15 6 6 > L7
+ 139 + 2 +4 6. 10
656 17 10
7 9
8. 88
N 8 8 81 9 16 9. 17
+ + +
b ! : o 50
9 88 17
11. 4
12. 95
100 41 1) 3 12) 90 13. 8
+ 9 +1 + 5
50 4 95 14 4
15. 26
13) 7 14) 3 15 19
+1 +1 + 7
8 4 26
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 9 11-15]27|20]13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
100 656 95 17
9 10 88 46 1.
4 50 44 17
2.
1) 30 2 80 3 42 3
+16 + 20 + 2
4,
5.
6.
7.
4) 517 5) 15 6) 6
+ 139 + 2 i 8.
9.
10.
11.
) 8 8 81 9 16 N
+1 + 7 + 1
100 41 1) 3 12) 90
+ 9 +1 + 5
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 9 11-12| 8 | 0




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 12 2) 15 3) 480
+ 11 + 9 + 216 5
3.
4.
4 2 5 26 6 5 >
+2 +21 +4 ;
7.
8.
n 3 8 742 9 4 9.
+1 + 139 + 2
_ = — 10.
11.
12.
100 14 11) 16 12) 34 13
+ 3 + 3 + 3
14.
15.
13) 75 14) 498 15) 6
+10 + 85 +4
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 10 11-15]27]20f13| 7| O




=

Zusatz (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 23
) 12 2) 15 3) 480
+11 + 9 +216 2 24
23 24 696
3. 696
4, 4
4 2 5 26 6 5 > all
t2 +2l 4 6 9
4 47 9
7 4
8. 881
3 8 742 9 4 J 6
1 r 139 2 o 17
4 881 6
11. 19
12. 37
100 14 11) 16 12) 34 13. 85
+ 3 + 3 + 3
17 19 37 . 583
15. 10
13) 75 14) 498 15 6
+10 + 85 i
85 583 10
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 10 11-15]27|20]13| 7 | O




JL_

Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
19 4 6 881
9 47 696 4 1.
24 17 37 23
2.
1) 12 2) 15 3) 480 3.
+ 11 + 9 + 216
4,
5.
6.
7.
4 2 5 26 6) 5
+2 +21 +4 8.
9.
10.
11.
n 3 8 742 9 4 n
i + 139 i
100 14 11) 16 12) 34
+ 3 + 3 + 3
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 10 11-12( 8| 0




	 1
	Worksheet
	Lösungsschlüssel

	 2
	Worksheet
	Lösungsschlüssel

	 3
	Worksheet
	Lösungsschlüssel

	 4
	Worksheet
	Lösungsschlüssel

	 5
	Worksheet
	Lösungsschlüssel

	 6
	Worksheet
	Lösungsschlüssel

	 7
	Worksheet
	Lösungsschlüssel

	 8
	Worksheet
	Lösungsschlüssel

	 9
	Worksheet
	Lösungsschlüssel

	 10
	Worksheet
	Lösungsschlüssel


